L) (e acs: A B
-aﬁ SIHRDE 00 ,
N2 RO B4 DRI 23 A

(JiehTirEAHEBIILLES. OTVFRRTYEL L. )

cm?3
m3 L mL

© 1m=[ 1000000 Jem I
|/0]0|0[0[0|0

e ] T
@ i= 1000 Jew B
| 100 Cc)m3
s ] T
© ImL=[ | ]cm3 ImL
| 3
m3 L CnTIf
@ |m3=[ ] L Im3
1 {O]0|0
L
e ] T
® IOOOcm3=[ ]L ' 0 0 Q,
|L

@ fIRE % @““5’?“5’@3%@%%



L) (e acs: A B
-Qﬁ SEIRDE 00 ,
N2 RO B4 DRI 23 A

JiepTtrEagEEIELLS. OTVFREZYEL LI, )

cm?3

© 1m=[ 1000000 Jem |
110/0]|0|0|0|0

cm3
cm3
m3 L mL
@) 3L=[ ] cm?3 3L
3/ololol
cm
cm3
m3 L mL
©) 2cm3=[ ] mL 2 L
cm
mL
cm3
m3 L mL
@ | m3=[ ] L I
m3
L
cm3
m3 L mL
@2000|_=[ ]m3 2 00 OL

@ HER % @“5?%3%@%@



@ BV A Hicb : A H
1o SR 00

RO B4 DRI 23 A

JiepTtrEagEEIELLS. OTVFREZYEL LI, )

cm3
m3 L mL
DO 2m3= [ ]cm3 2 ,
m
cm3
cm3
m3 L mL
@IOOOcm3=[ ]L | O 0 O,
cm
L
cm3
m3 L mL
Q 2 mL=[ ] cm3 2mL
cm3
cm3
m3 L mL
@ 3m3= [ ] L 3
m3
L
cm3
m3 L mL
@2000cm3=[ ] L 200 Cc)m3
L

OF % @“@?5@3%@}\9@



L) (e acs: A B
-Qﬁ SIHRDE 00 ,
N2 RO B4 DRI 23 A

JiepTtrEagEEIELLS. OTVFREZYEL LI, )

cm3
m3 L mL
O 3m3= [ ] cm3 3 .
m
3(0/0/0(0|0 Qm3
cm3
m3 L mL
@ 2L= [ ] cm?3 2L
cm3
cm3
m3 L mL
QD | mL=[ ]cm3 oL
cm3
cm3
m3 L mL
@ 2m3= [ ] L 2
m3
L
cm3
m3 L mL

@ HER % “@““5’?“5’03%@?%@



QSQ BV A Hicb : A H
-Qﬁ SIARDEE 10 ,
N S AR ) B4 0D R %3 A

(JiehTirEsBEBIILES. OFTVFRETYELED,)

s ] L
@® 3m3= [ ] cm3 3m3

ms ] L
@5000|_=[ ]m3 5000,

2 ] L
@ 25mL = [ ] cm3 2 ?L

m3 L CanIf
@ 6m3=[ ] L 6m3

ms ] L
(5)2000|_=[ ]m3 2 000

oxn BWITBTERYAY



@ BV A Hicb : A H
-Qﬁ SIARDEE 10 ,
N S AR ) B4 0D R %3 A

S JiehTrEaBEEIELLS. OTVFERETYEL LS. )

cm3
m3 L mL
D 5m3= [ ] cm3 5m3
cm3
m3 L mL
@ 12000cm? = [ ] L 12000
cm3
m3 L mL
©) 23mL=[ ] cm3 2 %L
cm3
m3 L mL
@ 4m3= [ ] L 4
m3
cm3
m3 L mL
® I5000cm3=[ ] L ' 500 Cc)m3

oxn BWITBTERYAY



S) [ acs: A&
{5l Smrseng o

RO B4 DRI 23 A

(JiehTirEaBEEIZL LS,

cm3
m3 L mL
® 2m3= [ ]cm3 2 ;
m
cm3
m3 L mL
@ 40L= [ ] cm3 L OL
cm3
m3 L mL
@ 6cm3 = [ ] mL 6 3
cm
cm3
m3 L mL
@5000L=[ ]m3 5000
cm3
m3 L mL
©3I000cm3=[ ] L 3100 Cc)m3

oen B ITBICRYAY



L) (e acs: A B
{5 k< oAsaam 00587 o
N2 RO B4 DRI %%

(JiehTirEaBEEIZL LS,

cm3
m3 L mL
O 6m3= [ ]cm3 6 ,
m
cm3
m3 L mL
@ 20L= [ ] cm3 2 OL
cm3
m3 L mL
@ Ilcm3= [ ]mL I I |
cm
cm3
m3 L mL
@ '7m3= [ ] I_ l7m3
cm3
m3 L mL
® 8000cm3= [ ] L 800 Cc)m3

® EH % '@““5?“5’@3%@%?&



S) [ acs: A&
{5l Smrseng o

RO B4 DRI 23 A

(JiehTirEaBEEIZL LS,

cm3
m3 L mL
O 4m3= [ ]cm3 4 ,
m
cm3
m3 L mL
®6OOOOcm3=[ ]L 6 O O O Qns
cm3
m3 L mL
®I5mL=[ ]cm3 | él_
cm3
m3 L mL
@ 2m3= [ ] L 2m3
cm3
m3 L mL
(5)5000L=[ ]m3 500 0

oxn B ITBICRYAY



L) (e acs: A B
o= Smrsaam 0051 0| o
N2 RO B4 DRI 23 A

| ([ JichtrzageEszlsed,

® 4mo=| | cm
2 1000 | J ms
® 200mL =| | em
® 1om3= | |
® 30001 | J ms

2 ROMUKOEBIIFEMITT L, £/, GALTTH,

i1.5m

- ( L)

m3)
© LI % @ig @i “5'@3%@&



L) (e Acs: B B
-Qﬁ SRR DEE 00 ,
NS A D B DA% 2E A

| ([ JichtrzageEszlsed,

® ami=| | em
@ 3000cm?= | n
® somL= | =
® lemd= | | mt
® 2mi= | | L

2 ROLGCOHEIMAMITT b £/, FAILTT D,

i ( m3) - ( L)

@ LI % @i g @i 503% @I@



@ ELHRS BiZb : A =
1o lh<  SERaas o

RO B4 0 A 2%z

| ([ JichtrzageEszlsed,

® smi=| | em
@ 2000 | J ms

® 80000cm?= | |

® 600cm? = | | me

® 20— | | em?

2 ROUEDOEKEIAMITT b, Tz, ALTT b

i ( m3) - ( L)

© LI %% @i g @i 503% @I@



L) (e Acs: B B
-Qﬁ SRR DEE 00 ,
NS A D B DA% 2E A

| ([ JichtrzageEszlsed,

® 2mi= | | em
® 15mL - | J om

® 80000cm?= | |

® so0oL | J ms

® 20m= | |

2 ROLGCOHEIMAMITT b £/, FAILTT D,

i ( m3) - ( L)

@ LI % @i g @i 503% @I@



@ ELHRS BiZb : A =
1o lh<  SERaas o

RO B4 0 A 2%z

| ([ JichtrzageEszlsed,

0 7moe | )em
2 soo0em= [
® eoL-| )
® 20001 = | J m:
N

2 ROUEDOEKEIAMITT b, Tz, ALTT b

1 1.5m

i ( m3) - ( L)

@ LI %% @i g @i 503% @I@



ETRP X EBO! Q

SR @EEE 00 Tw
HIRD RO ER 23z
| [ JencrzssmeEsslsi. (B204)
D 8m3= [ ] cm3
@ 30mL = [ ] cm3
@ 6m3= [ ] L
@ 2000L =[ ] m3
2 ROILKOEFEIZFAMITEA, T/, ALTTH, (B105)
ny
I m
‘‘‘‘ 58m
3
Ex ( m3) ( L)

® HEDHL % @i g ? 35'03% @’M@%



@ B9 REP X8O L! Q
-Qﬁ m@&@un o
>—/ iR B ORIR

23FZ

| ([ JichtrzameEss Lo, (B204)

® ami= | | em
@ s00oL | J ms

® 42mi= | | cm

® 70000cm* = | |

® 600cm* = | | me

2 ROIIEOEBIIAmMITTH, T, ALTTH, (£105)

— ’ 1.5m

i ( m3) - ( L)

® HEHL % @i g ? 35'03%@1@7



@ BV it : A H
- Qi_ ST 0

RO B4 DRI 23 A

JiepTtrEagEEIELLS. OTVFREZYEL LI, )

cm?3
m3 L mL

® 1m=[ 1000000 Jem I
110/0/0/0(00

2 ] T
@ it=[ 1000 Jecw N
110/0]0Q,
2 ] T
Q@ | mL=[ | ]cm3 ImL
L
m3 L Cr:]lf
® m=[__ 1000 Jo 1
| O[O0 OL
2 ] L
® IOOOcm3=[ | ]L 1 00 Q,
IL

@ PiEE B % @ig?gﬁgg@kz



L) (e acs: A B
-Qﬁ SEIRDE 00 ,
N2 RO B4 DRI 23 A

JiepTtrEagEEIELLS. OTVFREZYEL LI, )

cm?3

® 1m=[ 1000000 Jem |
1100|0000

cm3

= ] e
@3- 3000 Jems 3
3/0/00Q]
w ] e
€) 2cm3=[ 2 ]mL %m3
mL
- ] w
®im=[_ 1000  Jo 1
110/0/0
L
w ] —
@2000|_=[ 2 ]m3 2 00 0
24

@ HR EX % ”@““5‘@‘“5’@3%@?%@



@ BV it : A H
{5l Smrseng o

RO B4 DRI 23 A

JiepTtrEagEEIELLS. OTVFREZYEL LI, )

cm?3
m3 L mL

® 2mi=[ 2000000 Jem 2
2/0/0/0/0/0/0

cm3

cm3
mL

@ 1000emi=| | L | 000

cm3

cm3

©) 2mL=[ 2 ]cm3 2

mL

cm?3

cm?3

@3m=| 3000 |. 3

cm?3

L mL
@2000cm3=[ 2 ] L 2000,
2.

@ R Ex % “@““5’?“5’03%@?%@



L) (e acs: A B
-Qﬁ SEIRDE 00 ,
N2 RO B4 DRI 23 A

JiepTtrEagEEIELLS. OTVFREZYEL LI, )

cm?3
m3 L mL

®3me= [ 3000000 Jem 3
3/0/0/0/0/0/0

cm3

@2e=| 2000  |em 2.

@ R Ex % ”@““5‘@‘“5’@3%@?%@



L) (G act: A |
-Qﬁ SERR@EE 00 ‘
N S AR O B A D B R Z2EA

S JiehTrEaBEEIELLS. OTVFERETYEL LS. )

cm?3
m3 L mL

® 3m= 3000000 Jem 3
3/0/0/0/0/0|0

cm?

s ] —
@5000|_=[ 5 ]m3 500 Qm3
5L
s ] —
@25mL=[ 25 ]cm3 2 ?L
213,
s ] —
®e6m=| 6000 | L 6
600 0
s ] —
(5)2000|_=[ 2 ]m3 2 000
2|

GF-F-71 % @“5?%3%@%@



L) (G act: A |
-Qﬁ SERR@EE 00 ‘
N S AR O B A D B R Z2EA

S JiehTrEaBEEIELLS. OTVFERETYEL LS. )

cm?3
m3 L mL

®sme= [ 5000000 Jem 5
5/0/0/0/0/0/0

cm3

cm3
mL

® 12000emi= | 12 L | 2000

cm3

@23mL=[ 23 ] cm3 2 3

mL

cm3

cm?3
m3 L mL

@ams= | 4000 L 4

cm?3

L mL
® |5000cm3:[ | 5 ] L | 500 0,
| ' 5

L

GOF-F-71 % “@““5’?“5’03%@?%@



S [EE® Aks: A @
{5l Smrseng o

RO B4 DRI 23 A

(JiehTirEaBEEIZL LS,

®2me= [ 2000000 Jem 2
2/0/0/0/0/0/0],
@aoL=| 40000 |em 4 0
4/0/0/0/0Q]
® 6cm3 = [ 6 ] mL éma
o
m3 L Cr:]lf
@soooL=| 5 |m 500 0
5
®3l000em’=| 3| | L 31000,

@ EE &2 % @“5?%3%@%@



L) (R Aice: A E
= Aaam 00587 o
NS¢ RO 4 DBIfR %EA

(JiehTirEaBEEIZL LS,

®6me= [ 6000000 Jem 6
6/0/0 0000
@20e= 20000 |em 2 0
2/0/0/0/ Q|
©) IIcm3=[ | | ]mL | c|:m3
L
m3 L CnTIf
®@mms=| 7000 .o 7,
7/0/0|0
® s000cm=| 8 | L 8 00 Q,

3

L

OF - §-71 % ”@““5@‘“5@3%@%@



8-

BR3P

SGHRDEGE 00

FIED BEAL DR

(JiehTirEaBEEIZL LS,

® am3= | 4000000 |ems

@ 60000cm? = [ 60 ] L

® I5mL=[

@ 2m3= [

| 5 ]cm3

2000

.

BiZs . A H
2%7
cm?3
m3 L mL
4 3
m

4/0/0/00/0/0

cm3

m3 L Crrr:]lf
6000 0.
60
m3 L cr:]ni
2
I §m3
m3 L Cr:]lf
2,
2/0/0/0
m3 L Cr:lnlf
5000
5

B ITBICRYAY



BV A izt : A H
SRR DEE []l]

RO B4 DRI 23 A

| ([ JichtrzageEszlsed,

® am>=| 4000000 |cm

@200mL=[ 200 ]cm3

@ om=| 10000 | .

2 ROULEDOHIEIZMAmMITT A, T/, @ALTTH,

i1.5m

X: 6X4X1.5=36 (m3

sx ( 36 - ( 36000 L)

© LI R g%- @i ?“@@3&@%%



RO B4 0 A 2%z

L) (eane Alct A A
1o lh<  SERaas o

| ([ JichtrzageEszlsed,

® am3=| 4000000 |cm:

@ 3000cm3 = [ 3 ] L

® 30mL = [ 30 ]cm3

® Ilcm3=[ | | ]mL

®2m= | 2000 |

2 ROLGCOHEIMAMITT b £/, FAILTT D,

jZm

X: 4X0.5X2=4 (ny
£ ( 4 m3) - (4000 L)

@ HEif Bz % @i g @i 503% @ﬁﬁz



BV A izt : A H
SRR 00

RO B4 0 A 2%z

| ([ JichtrzageEszlsed,

® 8m>=| 8000000 |cm:

@ 80000cm3 = [ 380 ] L

@® 600cm? = [ 600 ]mL

®20.=| 20000 |em

2 ROLGCOHEIMAMITT b £/, FAILTT D,

x: 4 X | X0.5= 2 m3
£ ( 2 m3) - (2000 L)

@ HEif Bz % @i g @i 503% @ﬁﬁz



BV A izt : A H
SRR 00

RO B4 0 A 2%z

| ([ JichtrzageEszlsed,

® 2mo= | 2000000 |cm:

@ I5mL = [ |5 ]cm3

@ 80000cm3 = [ 380 ] L

@6000L=[ 6 ]m3

®20m=| 20000 | L.

2 ROLGCOHEIMAMITT b £/, FAILTT D,

£ ( 6 m3) - (. 6000 L)

@ LI B2 g%- @i ?“@@3&@%%



BV A izt : A H
SRR 00

RO B4 0 A 2%z

| ([ JichtrzageEszlsed,

® 7mo= | 7000000 |cm:

@ 5000cm3 = [ 5 ] L

@eoL=| 60000 |em

@50cm3=[ 50 ]mL

2 ROLGCOHEIMAMITT b £/, FAILTT D,

1 1.5m

x: 4 X3 XI|.5=18 my
s ( | 8 m3) - ( 18000 L)

@ i Bz % @i g @i 503% @ﬁﬁz



ER® X EBO! Q
SHR@DEER 00

IR D B AL 0 RB{R 23z

Th

| ([ JhtirzsgeEssLed. (B2084)

® sm>=| 8000000 |cm

@) 30mL=[ 30 ]cm3

®em=| 6000 |

2 ROUKOEKBIIFEMITTHL, T, GALTTH. (BI10S5)

X: 4 X2.5X | =|0wm3

1 ( 0 m3 - 10000 L)

® NEDL Bz % @i g @i %’03% @ kt



ETH R HEEBOL! Q
oA o0R 101 6 o

R0 B DRIR 2%z

| ([ JichtrzameEss Lo, (B204)

®ame= [ 9000000 |cms

®7OOOOcm3=[ 70 ]L

@600cm3=[ 600 ]mL

HOEBIEF M3 T, T, AILTT D, (BI05)

=

2 ROD

-------------- i 1.5m

X: 2X3IXI1.5=9 (m3
£ ( 9 m3) - (. 9000 L)

® NEDL Bz % @i g @i %’03% @ kt



	スライド 1
	スライド 2
	スライド 3
	スライド 4
	スライド 5
	スライド 6
	スライド 7
	スライド 8
	スライド 9
	スライド 10
	スライド 11
	スライド 12
	スライド 13
	スライド 14
	スライド 15
	スライド 16
	スライド 17
	スライド 18
	スライド 19
	スライド 20
	スライド 21
	スライド 22
	スライド 23
	スライド 24
	スライド 25
	スライド 26
	スライド 27
	スライド 28
	スライド 29
	スライド 30
	スライド 31
	スライド 32

